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|dlotntec voonAgvopevwy 2005

m 287 3TP

m 99 YMNA=

= 26 KATQTEPOI
10 ANQTEPOI
= 2 ANQTATOI

= ] AEP

m 5 NAYT

= O AIMEN

= 2 [1YPOZB

m6 AT

= 4 MAO

= 0 IAIQTEZ

= 0 AMMOZTPATOI
= 3 MEAH
=1M.Y.




|6lotnTtec voonAsuousevwy 2010

m 254 3TP

= 110YNA=

= 68 KATQTEPOI
33 ANQTEPOI
= 0 ANQTATOI

= 0 AEP

= 9 NAYT

= 1 AIMEN

= 3YPOZB

m 9 AT

= 8 MAGO

= 5 |AIQTEZ

= 1 ANNOZTPATOI
= 5 MEAH

=3 M.Y.




|OtotnTtec voonAevopevwy 2015

m 1602TP

= 91 YMNA=

m 43 KATQTEPOI
® 17 ANQTEPOI
= 0 ANQTATOI

= ] AEP

m 6 NAYT

= 1 AIMEN

= 1YPO2B

m7 AT

= 4 MAO

m 5 JAIQTEZ

= 8 AMNOZTPATOI
= 20 MEAH

=4 M.Y.
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